

No 6.

$$(1) y' - 2y = 4x \dots (A)$$

$$y_p = \alpha x + \beta \text{ としよ。 } (\alpha, \beta: \text{未定係数})$$

(A) に代入し, (A) の両辺を比較して α, β を求めよ。

$$\begin{aligned} (\alpha x + \beta)' - 2(\alpha x + \beta) &= 4x \\ \alpha - 2\alpha x - 2\beta &= 4x + 0 \\ -2\alpha x + \alpha - 2\beta &= 4x + 0 \end{aligned}$$

$$\therefore \begin{cases} -2\alpha = 4, \\ \alpha - 2\beta = 0 \end{cases} \Leftrightarrow \begin{cases} \alpha = -2, \\ \beta = -1. \end{cases}$$

よって $y_p = -2x - 1$ である。

$$y_p = -2x - 1$$

次に,

$$y' - 2y = 0 \dots (A')$$

$$\text{の一般解は } y = Ce^{2x}$$

よって

(A) の一般解は

$$y = -2x - 1 + Ce^{2x}$$

$$(2) \quad y' - 2y = 5 \sin x \quad \dots (A)$$

$$y_p = \alpha \sin x + \beta \cos x \quad \dots (17.511)$$

(A) に代入.

$$\underbrace{(\alpha \sin x + \beta \cos x)'}_{\alpha \cos x - \beta \sin x} - 2(\alpha \sin x + \beta \cos x)$$

$$= (\alpha - 2\beta) \cos x + (-2\alpha - \beta) \sin x$$

$$= 0 \times \cos x + 5 \sin x$$

$$\text{したがって} \quad \begin{cases} \alpha - 2\beta = 0 \\ -2\alpha - \beta = 5 \end{cases} \quad \begin{matrix} \alpha = -2 \\ \beta = +1 \end{matrix}$$

したがって (A) の一般解は $y =$

$$y_p = -2 \sin x - \cos x$$

一方 $y' - 2y = 0 \quad \dots (A')$ の一般解は $y = Ce^{2x}$

したがって

(A) の一般解は

$$y = -2 \sin x - \cos x + Ce^{2x}$$

$$(3) \quad y' - 2y = e^x \quad \dots (*)$$

$$y_p = \alpha e^x \quad \text{としよう。}$$

(*) \sim (A) λ .

$$\begin{aligned} (\alpha e^x)' - 2(\alpha e^x) &= \alpha e^x - 2\alpha e^x = -\alpha e^x \\ &= e^x \end{aligned}$$

$$\text{L.H.S. } \alpha - 2\alpha = 1, \quad \underline{\alpha = -1} \quad \text{r.h.s.}$$

$$y_p = \boxed{-e^x}$$

$$\text{=} \text{ } \quad y' - 2y = 0 \text{ の一般解は } \boxed{C e^{2x}}$$

r.h.s. (A) の一般解は

$$y = \boxed{-e^x} + \boxed{C e^{2x}}$$

$$(4). \quad y' - 2y = e^{2x} \quad \dots (*)$$

$$y' - 2y = 0 \iff y = Ce^{2x} \quad \text{т.б. 3}$$

$$y_p = \alpha e^{2x} \quad \text{т.б. 2} \quad \text{и } \lambda = 2 \text{ (т.б. 1)}$$

$$y_p = \alpha x e^{2x} \quad \text{т.б. 2}, \quad (*) \text{ и } \lambda = 2.$$

$$\underbrace{(\alpha x e^{2x})'}_{=} - 2(\alpha x e^{2x}) = e^{2x}$$

$$\underbrace{\alpha e^{2x} + 2\alpha x e^{2x}}_{=} = x \alpha e^{2x}$$

$$\text{т.б. 3 } \alpha = 1, \quad y_p = x e^{2x}$$

т.б. 2 - общий ответ

$$y = x e^{2x} + C e^{2x} \quad //$$